
SELF ALIGNING COULTER ASSEMBLY

RIGHT AND LEFT HAND

ITEM DESCRIPTION QTY  PART NO

NO R/ HAND L/ HAND

COMPLETE ASSEMBLY 115-305 115-312

1 SIDE PLATE 1 114-104 114-104

2 PARALLEL COIL TYNE 1 115-217 115-218

3 COIL TYNE CLAMP 1 115-3009 115-3009

5 GOOSENECK 1 114-3012 114-3012

6 CLAY OPENER (STRAIGHT) 1* 115-426 115-426

7 SAC OPENER (CURVED) 1* 114-4168 114-4168

8 SEED TUBE 1 114-3091 114-3091

9 DISC ASSEMBLY 12" 1* 190-205 190-205

10 DISC ASSEMBLY 14" 1* 190-220 190-220

11 SPACER 6mm 1 115-474 115-474

12 SPACER 10mm 1 115-475 115-475

13 BOLT 5/8" x 4" 1 133-300 133-300

14 NUT NYLOC 5/8" 1 134-095 134-095

15 BOLT M16 x 200 (INC 16,17 & 18) 1 115-4002 115-4002

19 SWIVEL BOLT 1 133-420 133-420

20 NUT NYLOC 3/4" 1 134-125 134-125

21 BOLT 3/8" x 1" 2 133-070 133-070

22 SPRING WASHER 3/8" 2 135-030 135-030

23 SET SCREW 1/2" x 3" 1 133-165 133-165

24 BOLT 1/2" x 2 1/2" 2 133-190 133-190

25 NUT 1/2" 2 134-070 134-070

26 FLAT WASHER 1/2" 4 135-060 135-060

27 SPRING WASHER 1/2" 2 135-050 135-050

28 LOCK NUT 1/2" 2 134-070 134-070

29 LOCKING FORK 1 115-459 115-459

30 LOCK NUT 5/8" 2 134-100 134-100

SIDE PLATE REPAIR 1 114-3039 114-3039

*OPTIONAL COMPONENTS



SELF ALIGNING COULTER 

· oo

�o 
�- 0 


	Self Aligning Coulter Parts List
	Self Aligning Coulter Pic

